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4. Find the values of cos (tan-1—1 34)
Solution:

Let, tan-1—1 34 =0

Therefore, tan 6 = 34

We know that sec22 6 -tan226 =1
= sec 8 = V(1 + tanz22 0)
= sec 0 = V(1 + (3/4)22)

= sec B = V(1 + 9/16)
= sec 8 = V(25/16)
=>sec O =5/4
Therefore, cos 8 = 4/5
= 0 = cos-1—1 4/5

Now, cos (tan-1—1 34) = cos (cos-1—1 4/5) = 4/5
Therefore, cos (tan-1—1 34) = 4/5

5. Find the values of sec csc-1—1 (2/V3)
Solution:

sec csc-1—1 (2/V3)
= sec csc-1—1 (csc n/3)
= sec (csc-1—1csc n/3)

= sec n/3
=2

Therefore, sec csc-1—1 (2/V3) = 2



